> o-(Gizmo

£~ MECHATRONIX CENTRAL

M-BOT Controller:
Assembly Manual

An Entry Level Mobile Robot

Proudly Made in the Philippines

Page 1 of Pages 9 2017 e-Gizmo Mechatronix Central Mobot



MATERIALS: @ e-Gizmo

CHASSIS

WHEELS [2 pes]
.
6V DC MOTORS [2 pes]
MOTOR AND BATTERY HOLDER
MOTOR BRACKET [2pcs]
WIRES [4pcs]

[ —

[ .
BATTERY HOLDER ROLLER BALL - _—

| |

3.7V Li-ON BATTERY

SPOILER

SPACER [2pcs] o
O

Page 2 of Pages 9 2017 e-Gizmo Mechatronix Central Mobot




MATERIALS:

re-(Gizmo

i MECHATRONIX CENTRAL

3 x 6 mm [10 pes]

2.5 x 25 mm [4 pes]
TTTTT
TTTTT

ol

3 x 8 mm [14 pes] 3 x 10 mm [2 pcs]

TTTT 17
TTTT e

NUTS Oo
1A

3 x 13 mm [4 pes] 3 x 35 mm [2 pcs]

BRASS STUDS I I
3 x 25 mm [6 pcs] ;

3-CHANNEL LINE SENSOR
W

USB CABLE TYPE A TO MINI B [OPTIONAL]

Page 3 of Pages 9

2017 e-Gizmo Mechatronix Central Mobot



FIRST STEP: THE BODY

Chassis: Acrylic body
Screws: 3 x 6 mm [Upcs]
Brass Studs: 3 x 13 mm [4pcs]

- T

Screws: 3 x 6 mm [Upes]
Brass Studs: 3 x 25 mm [Upcs]

Screws: 3 x 6 mm [2pcs]

Brass Studs: 3 x 35 mm [2pcs]

(=xe-Gizmo

MECHATRONIX CENTRAL

TOP VIEW

Page 4 of Pages 9

2017 e-Gizmo Mechatronix Central

Mobot



SECOND STEP: Constructing the Motors

1 Screws: 2.5 x 25 mm [2pcs]
Nuts: 2.5 mm [2pecs]

Q@ =
P

@

Cut the Wires

LY

l
i
0

— | —

— : -

L ! _—

— : —_—

3 Strips the wires

(= m—
.
.
|

q Solder the wires to the motor
pins

| //

A

N/

Page 5 of Pages 9

2017 e-Gizmo Mechatronix Central Mobot




THIRD STEP: Placing the Motors

Wiring Connnections for Motors

p |

1 Attach the motors like this

BOTTOM VIEW

(=xe-Gizmo

MECHATRONIX CENTRAL

Page 6 of Pages 9

2017 e-Gizmo Mechatronix Central

Mobot



FOURTH STEP: Placing the Roller ball, Line sensor, >-o-Gizmo
Battery Lock & Spoiler " meckATRONIX CenTRAL

1 Attach the Roller ball 3 Attach the """"'-T

Screws: 3x8 mm [2pcs] Battery lock
Screws: 3x8 mm [2pcs]

T
T Attach the Spoiler
Attach the . L (@) q Screws: 3x8mm [2pcs]
——  Spacer and Line Sensor _—
Screws: 3x10mm [2pes]

Spacer [2pcs]

Page 7 of Pages 9 2017 e-Gizmo Mechatronix Central Mobot



(=xe-Gizmo

MECHATRONIX CENTRAL

FIFTH STEP: The Controller board and Line sensor

Screws: 3x6mm [Upcs]

Line sensor Connections

Page 8 of Pages 9 2017 e-Gizmo Mechatronix Central Mobot



MECHATRONIX CENTRAL

e-Glsz

SIXTH STEP: Motor Connections

LEFT 1 |
MOTOR

I & i 2 =' R I'I I__ *

STk 3 - =
ki ey gy e == - g
|| @00 e00 iy : i o4 5 (0
.|| \: . ! - | [

o | 5 5 2o =l 3
M|
= = [ ]
i o
d ST -
: e : i
=71 7

RIGHT
MOTOR Battery

Connections

== Li-on Battery Rechargeable

3.7V 1580mAh / 5.6Wh

Page 9 of Pages 9 2017 e-Gizmo Mechatronix Central Mobot



	Title page 1
	Materials page 2
	Materials page 3
	First Step - The Body
	Second Step -  Constructig the Motors
	Third Step - Placing the Motors
	Fourth Step
	Placing the roller ball
	Line sensor
	Battery Lock
	Spoiler

	Fifth Step - The Controller board and Line sensor
	Sixth Step - Motor Connections



